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Financial Assets

Accounting for Cash

1. List several principles to be observed by a business in establishing strong internal controls over cash.
2. What are lines of credit? From the viewpoint of a short-term-creditor, why do lines of credit increase a company’s solvency? How are the unused portions of the lines presented in financial statements?
Accounting for Receivables
3. In making the annual adjusting entry for uncollectible accounts, a company may utilize a balance sheet approach to make the estimate, or an income statement approach. Explain these two alternative approaches.
4. How is the accounts receivable turnover rate computed? Why is this rate significant to short-term creditors?
Accounting for Cash

5. Exercise 7.5
Shown below is the information needed to prepare a bank reconciliation statement for Warren Electric at December 31:

i) At December 31, cash per the bank statement was $15,200; cash as per the company’s records was $17,500.
ii) Two debit memoranda accompanied the bank statement: service charges for December of $25 and a $775 cheque drawn by Jane Jones marked “NSF”.
iii) Cash receipts of $10,000 on December 31 were not deposited until January 4.
iv) The following cheques had been issued in December but were not included among the paid cheques returned by the bank: no. 620 for $1,000, no.630 for $3,000 and no. 641 for $4,500.
Instructions
a) Prepare a bank reconciliation statement at December 31.
b) Prepare the necessary journal entries to update the accounting records.
c) Assume that the company normally is not required to pay a bank service charge if it maintains a minimum average daily balance of $1,000 throughout the month. If the company’s daily balance for December had been $8,000, why did it have to pay a $25 service charge?

6. Problem 7.1
The cash transactions and cash balances of Banner Inc., for July were as follows:
i) The ledger account for Cash showed a balance at July 31 of $125,568.

ii) The July bank statement showed a closing balance of $114,828.

iii) The cash received on July 31 amounted to $16,000. It was left at the bank in the night depository chute after banking hours on July 31 and therefore was not recorded by the bank on the July statement.

iv) Also included with the July bank statement was a debit memorandum from the bank for $50 representing service charges for July.

v) A credit memorandum enclosed with the bank statement indicated that a non-interest bearing note receivable for $4,000 from Rene Manes, left with the bank for collection, had been collected and the proceeds credited to the account of Banner. Inc

vi) Comparison of the paid cheques returned by the bank with the entries in the accounting records revealed that cheque no. 821 for $519, issued July 15 in payment for office equipment, had been erroneously entered in banner’s records as $915.

vii) Examination of the paid cheques also revealed that three cheques, all issued in July, had not yet been paid by the bank: no.811 for $314; no.814 for $625; no. 823 for $175.

viii) Included with the July statement was a $200 cheque drawn by Howard Williams, a   customer of Banner. Inc., This cheque was marked “NSF.” It had been included in the deposit of July 27 but had been charged back against the company’s account on July 31.

Instructions
a) Prepare a bank reconciliation statement for Banner. Inc., at July 31.

b) Prepare journal entries to adjust the accounts on July 31. Assume that the accounts have not been closed.

c) Sate the amount of cash that should be included in the balance sheet at July 31.

d) Explain why the balance as per the bank statement is often larger than the balance shown in its accounting records.

Accounting for Receivables
7. Problem 7.3
Super Star, a Hollywood Publicity firm, uses the balance sheet approach to estimate uncollectible accounts expense.  At year-end an aging of the accounts receivable produced the following classification:

[image: image1.emf]Not yet due 500,000 $      

1-30 days past due 210,000        

31-60 days past due 80,000          

61-90 days past due 15,000          

Over 90 days past due 30,000          

835,000 $      


On the basis of past experience, the company estimated the percentages probably uncollectible for the above five age groups to be as follows: Group 1, 1%; Group 2, 3%; Group 3, 10%; Group 4, 20%; and Group 5, 50%.
The Allowance for Doubtful Accounts before adjustment at December 31 showed a credit balance of $11,800.

Instructions
a. Compute the estimated amount of uncollectible accounts based on the above    classification by age groups.

b. Prepare the adjusting entry needed to bring the Allowance for Doubtful Accounts to the proper amount.

c. Assume that on January 10 of the following year, Super Star learned that an account receivable that had originated on September 1 in the amount of $8,250 was worthless because of the bankruptcy of the client, April Showers.  Prepare the journal entry required on January 10 to write off this account.

d. The firm is considering the adoption of a policy whereby clients whose outstanding accounts become more than 60 days past due will be required to sign an interest-bearing note for the full amount of their outstanding balance.  What advantages would such a policy offer?
8. Exercise 7.9
The credit manager of Montour Fuel has gathered the following information about the company’s accounts receivable and credit losses during the current year:

                  
[image: image2.emf]Net credit sales for the year 8,000,000 $   

Accounts receivable at year-end 1,750,000      

Uncollectible accounts receivable:

Actually written off during the year 96,000 $     

180,000        

Estimated portion of year-end receivables expected 

to prove uncollectible (per aging schedule) 84,000 $     


Instructions
Prepare one journal entry summarizing the recognition of uncollectible accounts                 expense for the entire year under each of the following independent assumptions:
a. Uncollectible accounts expense is estimated at an amount equal to 2.5% of net                               credit sales.

b. Uncollectible accounts expense is recognized by adjusting the balance in the       Allowance for Doubtful Accounts to the amount indicated in the year-end aging schedule.  The balance in the allowance account at the beginning of the current year was $25,000.  (Consider the effect of the write-offs during the year on the balance in the Allowance for Doubtful Accounts.)

c. The company uses the direct write-off method of accounting for uncollectible     accounts.

d. Which of the three methods gives investors and creditors the most accurate       assessment of a company’s liquidity?  Defend your answer.

9. Exercise 7.10
The following information was taken from recent annual reports of Huffy Corporation and Ohio Power Company (Huffy is a manufacturer of bicycles and Ohio Power Company is a public utility; dollar amounts are stated in thousands):

	
	Huffy
	OPC

	Net sales
	$708,000
	$2,106,000

	Average accounts receivable
	$103,000
	$   208,000


Instructions
a. Compute for each company the accounts receivable turnover rate for the year.
b. Compute for each company the number of days (on average) required to collect an outstanding receivable (round answer to the nearest whole day).
c. Explain why the figures computed for Huffy in parts a and b are so different 

      from those computed for Ohio Power Company.
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